
Poole Elementary 4th Grade Math Homework Helper
unit 1- MCC4.OA.1

MCC.4.OA.1 Interpretamultiplicationequationasacomparison,e.g., interpret35:5 x Tasastatementthat35 is 5

times as many as 7 andT times as many as 5. Represent verbal statements of multiplicative comparisons as multiplication
equations.

In other words...I understand that when a problem has "n times as many" it means
I need to multiply.
Whct is 3 timesff$mcnyo$4? (3 x4= tA) 30is6timesas menyas 5 (6x 5 = 30)

I also krcow...how to tell which number is being multiplied and which number tells
how many times it should be multiplied.
l'{ow much is I tirnes cs many ns7? For this que$tion,7 is the nurnber b*ing
muftipliad and I is h*w mony tirnes 7 will bc ynultiplied. {9 xV * *3}

For eramltle Steve plays Mineeraft@ for 6 hours eaeh we+k" Sarah plays B
tirnes a"s rrrreh a^s Steve. Ifow many hours does Sarah play Mineeraft@ pen
ryeekP'!'qr ilnrlr**r fll* pr.obl*ru I *ill rnultipl.v {i (th* l**rrm* Stevt" 1rl*.ys p*rr
*t t'k) lI tirnes to rge*. tlre ntm*nb*r' clf lx)trrii il:r*h ;rlar.vs *er*:h *v*a:l*, I rr*rrn.ife lh*r
;rr*trl*:rlr; il r {i * I,tl. f*tr.nh lrhys tf iner.rrurlt(p l8 lrour$ I}('r. w"o{-'li.

For era.mple: Shawn is 4 years old. His tlarl is Ttirnes older tham he is. IIorv
olcl is Shanr.n's tlar1P T'e ru*wler this pr*bl*rn I lr"iil rnnltipl.v "* {trrorr ul* ,{*l*a*'rt
is) 7 tirncs fo ${t't thc t{I<r r#Iris rlatl, I re"-u'l.ite thc ;roblrn* 7 x * = *Fl. F{ll*rry*"s
rlad ir l}8 p,*nru okl.

Some new maflr words I arn .Usins with this stan4.qrd:
Array - an arrangement (or picture) of equal groups in rows and columns
Equa,tioE - (uses the equal sign ":'r; a number sentence that uses an equal sign to show that
two amounts (quantities) are equal

3x8:24 3x8:12x2 (6x2)x8:6x(2x8)
Factor - the number(s) multiplied in a multiplication problem. There are two factors (8 and 6)
in this multiplication sentence 8 x 6 :48.
Multiplication - (multiply uses the symbol "x" between two numbers) a rnath operation that
combines equal groups. The symbol "x" means "groups of'
Product - the answer to a multiplication problem

Help your child by havingh*r/him solve "n times as rnany" and "n times
as mucir" prcblems at home. For example: ?his recipe uscs 2 cups cf
oatmeal. We need 4 times as much since we are making 4 batches of

oatmeal raisin cookies. How many cups of oatmeal do we neecl?
The prcbiem is 4 x 2 : B. We need B cups of oatrneal"
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MCC.4.oA.2Multiplyordividetosolve*o.oo,oo,"ffiecomparison,e.g.,byusingdrawingsandequations
with a symbol for the unknown number to represent the problem, distinguishing multiplicative comparison from additive comparison.

In other words...f can replace a missing number or number I don't know (in a
division or multiplication problem) by any letter to show that it is the number I
need to know to solve the problem.
fp-f gXgUpJS: Angel resd 5 poges of her book on Manday. 8y Fridoy, she had read L0 times as

many pages ss an Monday. How rnrny psges did she read by Friday? I see that she read "L0
times as rnany" which rTleans multiplication. I re-write th* problern as: 10 x $ = p to show that I

need to solve for p (pages she read). Angel read 60 pages by Friday.

I also know...which part of the problem (which number) is missing and how to
show the missing number in an equation.
Fo.y exal1ple: The bookcase has 3 shelves. There are 3i baoks in the boakcas*. How mafiy
baoks are on each shelf? This problom tells me how many books I have total and how many
shelves {groups) I have. The missing part is the amount of books on each shelf sr how many
times I should rnultiply bythree. I re-write the equation as 3 x b = 33 to showthat I need to
solve for b (number of books on each shelf). Since the problem tells me thc total I can write
theequationinadifferentway: 33+b=3or33+3=b.Theresrel"Lbooksaneachsttelf.

Total books = 33
-.-***-***'

are 3 shelves.
Each box is how many

books on each shelf = ?

F"of"-pXgmp.le_: Cameron went on a fishing trip. He caug?tt 7 times as mony fish on the third day
ss lle did an the first. lle c*ught 2B fish in all. How many fish did he *tch a* tt'te firsl dcyT This
problem tells me how times as maily fish Cameron caught the third day {7 times as many} than
the first day and I am given the total. The missing part is how many fish he caught the first day.
I know this is multiplication because the problem says "7 tirnes as many". I re-write the
problem as f x 7 = Z8 to solve for f {the number of fish ceught the first dayi" Since the problern
tells me the total I can write this a different way: 2B + 7 = l. Cameran caught 4 fish on
Monday.

Fish caught on third day

Fish caught on first day ffir


